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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese,.

1. (A) Choose the right alternatives :
1X5=5

wg Oeq JifR Sferedr ¢

() Which one is the long-term
financial decision ?

RRASRRISt 0 NS DR
(a) Dividend decision
TSR PAfRI

Contd.



(b) Working capital
IRIFI! ST
(c) Profit maximisation

e F{fE<el

(i) Which one is the long-term source
of working capital ?

T PR R BT (I 2
(a) Reserves

TR
(b) Bank credit

(RRF (e

(c) Depreciation funds

SRS ffSr

(i) An appropriate capital structure
should have

TG IEH SO AT 2E
(@) profitability
I
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(b)

(c)

(@)

solvency
FoRETO!
flexibility
BECIRIS)

None of the above

S2/99 OIS way

(iv) Which one is the internal factor

for determining capital structure ?

TG O TSR FZE AT 2

(a)

(b)

(c)
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Nature of business

IS APlS

Condition of capital market
T TSI IZ!
Nature of investors
RiNsRE a3fe
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BfeTS 354 ATRBIeI Fraies wiere RiAcaise

(v) Which one is remedy of over-

Praie Gite w27 |
capitalisation ?
SfeTT 2lfSwT @Ie! 2 (i) Share capital includes debentures
and other forms of borrowing.
(a) Plough back of earnings
S GRH SETEAS FO Ao F (iR
' S AP SR |
(b) High rate of earnings
e AR §f‘\$ (iij) Financial management does not
| help in profit planning, controlling
(c) Issue of shares and ] & cost etc.
debentures
eI AAfRal, wlreq +iffFs I, 196 g
R I Yol Ko WS F19T® RS ¥ |

B. Write whether the following statements

(iv) A Finance Manager has to
are True or False :

1x5=5 maintain liquidity rather than
e (o wm e profitability.
() Investment decision is not related e ifvleres wiftg ' ioeme
to working capital management weTol Jend 1|
decision.
4 (Sem-5) FMM/G S Contd.

4 (Sem-5) FMM/G 4




(v) Investment decisions relate to
investment in capital assets only.

RN g @ sin Riacmer e
G |

Answer the following questions in about
30 words each : 2x5=10

weTe A ePPTRS TET AfSHl 30 v Rrego e 3
(a) Write the methods of capita] budgeting.
T AT WfR sAafom 5 R

(b) State different types of dividend policy.
Ao Rfew ~Affoong & fe
(c) State the finance function.

Finance function-3 Ry o

(d) State the meaning of pPay-back period.
Pay-back period-g Ry o

(e) What is stock dividend ?
Stock dividend W & e
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Answer the following questions within
150-200 words : (any four) S5Sx4=20

were frl eeTRe Tes 150-200 *97 fowse foralf ¢
(Riewrzan 5161 |

(@) State the limitations of financia]

management.

€ ~AfRolemT Marmerng & e

(b) Distinguish between financial leverage

and- operating leverage.

Financial leverage @Is operating

leverage-3 #{iefy &= |

(c) State the consequences of under-

capitalisation.
SRR TR 6 /e

(d) Define opportunity cost of capital. How
is it computed ?

TR S e A | FReTR a7 o
Tferedl 212
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(e) Write a note on optimum capital
structure.

e e o1oT Racm @Bt Gl fordi |

4. Answer the following : 10x4=40
wote fral eTRs el feril ¢

(a) Describe the scope and function of

financial management.

RET TR AR i SfLE S |
OR / @2l

Describe any two theories of capital

structure.

SER S1oeR RIcPIcl 75! TG SCEo |

(b) Elaborate Modigliani and Miller
hypothesis of dividend decisions.
Examine its validity.

sTopidl e Modigliani ®i% Miller @S

SSHRAPTZ AB S W1 22019 validity
st |
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Elaborate the determinants of capital
structure of a corporate entity.

P O T oo iR SoAmepmz
& e

(c) What is overcapitalization ? State the
impact of overcapitalisation on

consumers, firm and shareholders.

wftee e & e aee, dfovm
SR CoTS FHIFLHT LS S 4 |

OR / §24!

Mahindra Motors has net operating
income of Rs. 50 lakhs. It employs
Rs. 120 lakhs of debt carrying 15 per
cent interest charge. The equity
capitalisation rate applicable to the
company is 16 per cent. What is the
market value of the Mahindra Motors
under net income method ? Assume

that there is no tax.
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TRE 961 Jo (AET) weAEtr = 275 50
N4 Bl B 15% o 2@ 120 A 5 A
A (| €2 (@I=AE CFas Ay 2320
BB F 16% | Fi6 1% *f&feq (net
income method) SNYTS T2H ToIBI IS
&) e e @ie 71 7 3 4R

(d) Define working capital. What

considei;ations are taken into account
in estimating the amount of working
capital requirement in a newly started

company.

FFRR TR K@l T | T (@I e
RS T el FiReeTg S |
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“Profit maximisation is not the adequate
criteria to judge the efficiency of a firm.”
Explain the statement.

‘e TR @i efopR Amfer R
& ToRAIS =W 17 S |
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